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02 S 2SO HEAEE 2 E AL 121,185 1,060 120,125
OXMICH RIZEMHE22lAIAE 2=Hl AHXIEH
=E3 121,185,000& 121,185
SIEMIE & HOAHFA 452,260 660,210 207,950
201 Let24E] 15,960 15,960 0
01 At 2t 2l 15,960 15,960 0
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ool AEE 29 (el:de)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O=2CHl =AY &8 X2 M
20,000 * 1008 * 23| * 95% 3,800
OEXME &8 U SHOAY =& Z |
8,000& * 209¥Y x 8L = 103 * 95% 12,160
202 o4 H| 406,300 614,250 A 207,950
01 2L I 6,300 14,250 ANT7,950
Oo&=MIEE & SAHHAL=X 4 H|
70,000& = 3% * 303/ 6,300
03 22 H 20| 100,000 100,000 0
oOgR&H A=sa 100,000,000 100,000
04 =Ml 3t dl 300,000 500,000 A 200,000
Ol Al =& HAHAS 300,000,000& 300,000
203 R F & 30,000 30,000 0
03 Al ZH =& 2= X H| 30,000 30,000 0
OMEBESY L SOAIE =& M &b
20,000,000 20,000
Od&=M &8 =X 10,000,000 10,000
Mol W& X 97,553 86,030 11,523
A HEWAE 24 21,475 21,950 N4TH
201 LBt 19,475 19,950 N4TH
01 AP 22| H| 19,475 19,950 N4TH
OINXNEMMEHE =& 3,800
OZIIXNLHEAHEE M () A
20,000 * 2082 * 95% 380
OSIANYMEAHEAM M
20,000 = 1805 * 95% 3,420
oJI=22sHE =¥ 2,850
OJI222HE (o) M
6,000& * 1008 * 33| * 95% 1,710
OJl2s4duE28 S0AM M
15,000& = 808 * 95% 1,140
OXEMEEX MAXE HE
20,000 * 4058 * 33| * 95% 2,280
O2H MM A= HE
20,000 * 608 * 33| * 95% 3,420
OXEMEZA 7,125
OXNBTHEZAI(CH) AOXIE HMZ
50,000& * 208 * 23] * 95% 1,900
OXNSTHAEZ2Al X M2
50,000& * 558 * 23| * 95% 5,225
203 € R =& 2,000 2,000 0
03 AIEH =X H 2 F X Y| 2,000 2,000 0
OZFI MEHE L HAYS =Z
2,000,000& 2,000
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Helr 28 WE X (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
NgEEXS &2 24,035 11,780 12,255
201 £B-2d| 24,035 11,780 12,255
01 At 22l 24,035 11,780 12,255
oNgExZ doAXt=
20,0003 = 405 * 62| * 95% 4,560
oxXNgExa 2A2XNE M=
20,0003 = 2005 = 95% 3,800
OXNEEXS AOIH NEAIAH AS2H
11,000& = 1,500 * 95% 15,675
ANIEHM MM 29 22,043 22,300 A 257
201 Let24d] 9,143 9,400 A 257
01 At 2teltl 2,223 2,660 A437
OANMBENWUAATS X AR 2H 2,223
OAEO oI & AT 32 MI M=
10,000& = 2052 = 13| = 95% 190
OAZENA AR 29 2,033
-3 o M X+ M=
10,000& = 1005 = 23] * 95% 1,900
-2 M 70,000& = 23] = 95% 133
03 A2 Z Hl 6,920 6,740 180
Olatstn ¥ HAad FHUMMM 23 6,920
Ol atsrn 23 2,920
2 A= 230,000& * 43| 920
e AR S 10,0003 = 502 = 42| 2,000
OFAHE FHUHAMN A2
4,000,000& = 13l 4,000
301 LeBAF 12,900 12,900 0
09 SALAHIX A S 12,900 12,900 0
OXNEAA3 AHHIE4
300,000& = 434 SY = 12,900
oladnzs 29 30,000 30,000 0
303 &3 30,000 30,000 0
01 L& = 30,000 30,000 0
(O [P p=n F=) 30,000,000& 30,000
HAg A Z 3t 96,315 88,932 7,383
SHEQ HAUERZR = 20,000 20,000 0
203 ¥ S =&l 20,000 20,000 0
03 AIZ=AH =AY 20,000 20,000 0
ONMENEANRAL HRF2 20,000, 000& 20,000
d™ HE 29 76,315 68,932 7,383
201 ¢er24| 55,795 55,252 543
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BE: HE 2

e HASEEHAHZS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 53,203 52,420 783
OAZ2 L NSANRA 29 25,843
Oodx= 19,200
-K A2 A 750,000 ~ 12€ 9,000
HEAE A 850,0008 * 12& 10,200
ozelyl 4,800
-NSAEA 150,000& * 128 1,800
-NHIEAIE A 250,000 ~ 12€ 3,000
OAMRES EHI
50,000 « 20HA = 12€ * 95% 1,140
OZ&FHEH 40,0008 * 24 + 45 * 95% 304
O&4£D| dxz
35,000 = 1CH = 12€ * 95% 399
OKNSAMNEA XHH2H 13,110
OYdx= 800,000& * 12&€ = 95% 9,120
Os &l 300,000& = 12€ * 95% 3,420
o= Ed2 50,000 * 128 = 95% 570
OANAE 2223 M&
20,000 * 3= * 25008 * 95% 14,250
02 232%H4| 2,592 2,832 A 240
OAHOI STV & 21,0008 ~ 104 ~ 12€ 252
OZAIARZ 420
ONMSAEA 30,0008 = 12&€ 360
ONHEAEA 5,000 = 12& 60
O0lsd3R2 80,000& * 20§ = 12& 1,920
202 044l 20,520 13,680 6,840
01 2L I 20,520 13,680 6,840
O =L Y|
30,0008 = 3¥ x 202 x 128 * 95% 20,520
ol 51 g 33,257,891 26,266,203 6,991,688
ol 51 5l 33,257,891 26,266,203 6,991,688
ol gl 8] 33,257,891 26,266,203 6,991,688
801 oyl dl 33,257,891 26,266,203 6,991,688
01 L Bhal gl Yl 12,254,481 13,500,000 N 1,245,519
O LBt bl Yl 12,254,481,000& 12,254,481
B UHERES 21,003,410 12,766,203 8,237,207
ouss=E= 21,003,410,000& 21,003,410
IS F (04 D) 50,062 52,487 A2,425
JlE&dl 50,062 52,487 N2,425
Jl2&H| 50,062 52,487 N2, 425
201 gBt2dd| 20,542 20,479 63
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 2t 2|l 20,542 20,479 63
oJl2geda=H(JI&EZHl)
500,000& = 18H = 90% 8,100
o=sgd (OIE2dl)
8,000& ~ 18 =+ 8% » 12& » 90% 12,442
202 Odl 25,920 27,908 A 1,988
01 = LH 4 1l 25,920 27,908 N1,088
O=3UaotI(IIEZ4l)
20,0003 = 189 = 6 » 123 25,920
203 YR =&l 3,600 3,600 0
04 FN2ELRZ=LH| 3,600 3,600 0
©J| & X (200210l 5t) 300,000& = 12& 3,600
HPEs(0latnt) 46,941,649 63,750,769 A 16,809, 120
28XE 8,380,000 27,523,253 N 19,143,253
KL & 8,380,000 12,523,253 A4,143,253
1 X+ = 0| A&k 2t 1,380,000 1,402,418 N22,418
01 Al -2 - RXGHE IS XS S0 AH&EE 597,000 693,000 A 96,000
O'12.4F~&35|12t S22 ELHZA
700,000,000& * 3.5% 24,500
©'12.sHEHDNSE ZEMT
3,500,000,000& * 3.5% 122,500
O'15.HFH FAL2AALE SHEAMY(XE)
3,000,000,000& * 3% 90,000
O'15. HF L~ T2EH I I AH(XE)
6,000,000,000& * 3% 180,000
O'15.2=UMRRIEZ2(FL~2S) HE S A
xtgh) 6,000,000,000& * 3% 180,000
03 SLERXNL SO0 A& 235,500 0 235,500
© 21210138 ZAXH(TEZH)
10,000,000,000& * 1.57% 157,000
O21. 30188 ZAZL(LaSE)
10,000,000,000& * 1.57% = 1/ 78,500
05 JIEFXHS 3 O R &f & 547,500 709,418 A 161,918
O'NM.ETEAMI=ST2AEY
600,000,000& * 2.5% 15,000
O'11.2&8cM22AHY 300,000,000& * 2.5% 7,500
©'12.201H A L XA MU=
300,000,000& * 2.5% 7,500
O'"IB.ANMHUNXT~AINUE 2L (XtEH)
7,250,000,000& * 1.75% 126,875
©'18.82~t8 T2 & (Xt
1 750,000,000& * 1.75% 30,625
O'"19. M2z 2 (MEFN~-SBUXNEZE) HES
AH(XEEH) 10,000,000,000& * 2% 200,000
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O'"19. 85 ZIAL2AANE SHAY(XHE)
5,000,000,000& * 2% 100,000
O '19. HFA~SAt2t T2 A ZAHRHE)
3,000,000,000& * 2% 60,000
601 XL S =4 7,000,000 11,120,835 A4,120,835
01 Al-Z - AN sHL==a 3,100,000 3,100,000 0
O'12.4&~&35|2t T2HEIZF I A
1,000,000,000& * 1/10 100,000
O'12.sHEHOUSE =& AMH
5,000,000,000& = 1/10 500,000
O'15.HFH FAL2AALE SHEAMY(XE)
5,000,000,000& = 1/10 500,000
O'15. HF LM T2EH I I AH(KE)
10,000,000,000& * 1/ 1,000,000
O'1B5.2EUHMPIETZ(SL~25) HEI A
xtgh) 10,000,000,000& = 1/10 1,000,000
05 JIEI=2UXte S 3 & e 3,900,000 8,020,835 A 4,120,835
O'NM.LESEMI=N2AHE
2,000,000,000& = 1/10 200,000
O'11.2&8c 228 1,000,000,000& * 1/10 100,000
©'12.2018 A U =XV AF
1,000,000,000& * 1/10 100,000
©'18.22~J1E2t T2 T AH(X )
2,000,000,000& * 1/8 250,000
O'18.AMNEBXXNA~AIWXNE T2 (Xt
8,000,000,000& * 1/8 1,000,000
O'"19. M2z 2 (MEFN~-SBUXNZE) HES
AF(XE2H) 10,000,000,000& * 1/8 1,250,000
O'"M19.HFA~IM2 T 2T ZAH(XE)
3,000,000,000& * 1/8 375,000
O'"19.HFA ZAL2LANE SHAS (XHEH)
5,000,000,000& * 1/8 625,000
HEHHK = 38,561,649 36,227,516 2,334,133
AMeze| SH2I R 38,561,649 36,227,516 2,334,133
309 MEZ 36,502,212 34,115,341 2,386,871
01 SA- SHILEEZ 36,502,212 34,115,341 2,386,871
OAg2else 29l 36,502,212,000& 36,502,212
404 SASHUA2HES 2,059,437 2,112,175 Ab2,738
01 SAt- BHIUHE2EHES 2,059,437 2,112,175 A52,738
OA&2elsE =83l 2,059,437,000& 2,059,437
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2AM: LXel ™
HE: 0N MBONES 9IS UXtel HE
Sl SO ATREE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2 Xtel 11,325,982 10,977,448 348,534
= 1,014,167
s 2,989,917
< 1,084,098
Al 6,237,800
QI MeEtotd s 5 el HEE 11,292,007 10,938, 104 353,903
= 1,014,167
s 2,989,917
< 1,084,098
Al 6,203,825
ot MOl A Xtel & E 8,106,266 7,466,790 639,476
= 575,167
s 1,669,917
< 916,220
Al 4,944,962
LT BSEXNAEH 29 415,000 425,500 A 10,500
307 21201 A 415,000 400,000 15,000
05 RIZt2IEt = 415,000 400,000 15,000
OFFANLANCISSRNEME 2
355,000, 000& 355,000
OFF=MHELE 3 A 294 50,000,000& 50,000
OQIMMME 2Cl&dol 10,000, 000& 10,000
LTS ENJAEEHOE RAX S4lH X2 111,510 106, 396 5,114
< 55,755
Al 55,755
307 glz2+ol & 111,510 106, 396 5,114
< 55,755
Al 55,755
05 RIZt2IE = 111,510 106, 396 5,114
OLXelES&XNAHEH 018 M &I S AHI
111,510,000& 111,510
< 55,755
Al 55,755
Hetel=2 XNYEF el 2 &3 30,000 30,000 0
201 L2l 30,000 30,000 0
03 & Ar2 Z I 30,000 30,000 0
Olfstgl= XN&EHFF LXe| AAZ
30,000, 000& 30,000
= UEUHE HdHUE WIIX XA 260,000 0 260,000
308 XX EHSOIA 260,000 0 260,000
07 IXNHMAR S = 260,000 0 260,000
OF= 0NECE HHMUS WMIIX XA (H
2) 260,000,000 260,000
DELEDIY dF 2,850 3,800 A 950
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o Xtel &3
Hu: DM MBONES 9B AXel HE
el o ETOl ATRAYE EEREED
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
201 Le-2d| 2,850 3,800 A 950
01 At 22l 2,850 3,800 A 950
ONEHEIY ASHE HA
300,000& = 1000 = 95% 2,850
Qi #FE 6,708 6,850 A 142
201 Let249] 4,708 4,850 A 142
01 At 22/l 2,708 2,850 A 142
OLXMZIBAIM BN W& L 29
,850,000& * 95% 2,708
03 &AL E HI 2,000 2,000 0
Ogitel K212 &s AL M=
2,000,000& = 13l 2,000
203 ¥ S =&l 2,000 2,000 0
03 AIZ=AH 2 =AH| 2,000 2,000 0
Ogxtel 3 HR=2 2,000,000& 2,000
ASYE AL B ALY 479,057 559,000 AT9,943
= 431,151
Al 47,906
307 glz2tol & 479,057 559,000 AT9,943
= 431,151
Al 47,906
02 It M AHEE 479,057 559,000 AT9,943
O/MEE A Z2E AL (316Y) 479,057,000 479,057
= 431,151
Al 47,906
AESE FEE LRel A Y 176,052 85,878 90,174
= 88,026
Al 88,026
101 14l 89,592 63,896 25,696
= 44,796
Al 44,796
04 JI2ZtHZ22 a2+ 89,592 63,896 25,696
O+ EEHE TE ALY Q1 2H|
2,239,800& * 4% » 103 89,592
= 44,796
Al 44,796
201 Let2d] 400 982 A 582
= 200
Al 200
01 At 221l 400 982 A 582
OS+AEEHE XNEMY FRFE =2H|
400,000& 400
= 200
Al 200
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 86,060 21,000 65,060
= 43,030
Al 43,030
02 PIZHEHAHE L 86,060 21,000 65,060
OMHR SLI1 =2 AHEHE XM
49,880,000& » 1JH A 49,880
= 24,940
Al 24,940
oOMEx =2 &0ol "HIT UP" I At
6,180,000  1JH A 6,180
= 3,090
Al 3,090
O=AT Helojup L Xtel HEZ ALY
30,000,000& * 1JH2 30,000
= 15,000
Al 15,000
ABE ZEE AXel AY(sYISHE R 111,980 0 111,980
)
= 55,990
Al 55,990
101 @14l 111,480 0 111,480
= 55,740
Al 55,740
4 J12ZtHZ22 s+ 111,480 0 111,480
OXEE sgolagh HE o 2EAMY 2
24l 2,229,600 * 5H * 10& 111,480
= 55,740
Al 55,740
201 2yt 2 Y| 500 0 500
= 250
Al 250
01 At 221l 500 0 500
OXEE sgolagh HE B 2EAMY &S
S8 =ZH 500,000& 500
= 250
Al 250
AR AT ALY 1,063,671 971,948 91,723
< 526,478
Al 537,193
101 14l 67,176 31,948 35,228
< 33,588
Al 33,588
M4 D12t ZE2EXNEES 67,176 31,948 35,228
OMAR ATt ALY EX01d ol2d|
2,099,250 » 4% « 8 67,176
< 33,588
Al 33,588
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SRl I HO AT2IHE (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 128,580 112,000 16,580
< 64,290
Al 64,290
01 At 22l 128,580 112,000 16,580
OMAN AX2IAIY =X 22|
8,000& * 4% « 25¢ 800
< 400
Al 400
OMAR AXelAY =& IHHLIZ
2,000,000& * 20H = 108 40,000
< 20,000
Al 20,000
OMAR AX2IAIY HRZ=E = H| 87,780
O=METX 24,0003 * 2502 A 6,000
< 3,000
Al 3,000
OxZely &d 220,000& = 1004 22,000
< 11,000
Al 11,000
O oA dXTelAtE AN S 63
500& = 20,0000H 10,000
= 5,000
Al 5,000
OMEEE 842 L EE2 MH(43)
49,780,000& 49,780
< 24,890
Al 24,890
301 LPEXZF 857,200 800,000 57,200
< 428,600
Al 428,600
12 J|EtE4 3 857,200 800,000 57,200
OMAMA UE=Z A ALY EHOHX HHEAS
20,000& = 42,860 857,200
< 428,600
Al 428,600
308 XXM S0l A 10,715 20,000 A9,285
07 IXNSHH2AURE = 10,715 20,000 A9,285
OMAMA UE=Z A ALY EHOHA d4HEER
10,715,000& * 13l 10,715
AR A 2IgXAL 29 239,816 91,176 148,640
< 119,908
Al 119,908
101 124 dl 220,776 81,326 139,450
< 110,388
Al 110,388
4 D122 E2XREES 220,776 81,326 139,450
OMAM™ A& 2GRE 2Y 1A 220,776
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Off &t 24

=

i
2m

Al

2l

Al

80,424
40,212
40,212
140,352
70,176
70,176

H

Al

19,040

9,520
9,520

9,850

9,190

220,000& * 20K

OAMgME AN S 35 500& = 5,0000H

OANdEE 80 & EE2 HA(25)

7,340,000&

300,000& * 129

24,0008 * 508+ A

n

Al

H

Al

= M

in

Al

= M

19,040
19,040
1,200
600
600
4,400
2,200
2,200
2,500
1,250
1,250

7,340
3,670
3,670
3,600
1,800
1,800

9,850

9,190

AUAARCIALY

= A

1,201,920
600,960
180,288
420,672

1,201,920

= Hn

1,170,756
585,378
175,613
409,765

1,170,756

04 DIt 22 XS+

O WAAT 2| ALY 0121 (204 )
1,170,756,0009!

Z N

1,170,756

1,170,756
585,378
175,613
409,765

1,170,756

Z My

31,164
15,582

4,675
10,907

31,164

70,000& = 5004

31,164
31,164
3,500

31,164
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= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
e 1,750
< 525
Al 1,225
OANRES 27,664,000 27,664
s 13,832
< 4,150
Al 9,682
S22 MY 2,669,021 3,608,800 A 939,779
101 14l 2,662,200 3,600,000 A 937,800
04 JIZtHZ22HEE = 2,662,200 3,600,000 A 937,800
O332 2 A 21 24H](600Y)
2,662,200,000& 2,662,200
201 LBt 6,821 8,800 A 1,979
01 At 22l 6,821 8,800 21,979
OYERE=E =ZHl 6,821
O8=% 70,0003 = 3401 = 95% 2,261
OYsEeE 5 UHHES
8,000& = 600H = 95% 4,560
NAEESSH LA AL 337,914 443,588 A 105,674
s 168,957
< 33,791
Al 135,166
101 @124 dl 317,100 394,314 NTT,214
s 158,550
< 31,710
Al 126,840
04 DIt Z2XEES 317,100 394,314 ANTT,214
OXNSZSSHLRIALY Q1248 (44Y)
317,100, 000& 317,100
as 158,550
< 31,710
Al 126,840
206 M= Hl 20,814 44,574 A 23,760
s 10,407
< 2,081
Al 8,326
01 M= 4l 20,814 44,574 A 23,760
OMYFZE e (110 MY, & &, HIZ
g) 20,814,000 20,814
s 10,407
< 2,081
Al 8,326
AMAXEE el EFE NAAS 1,000,000 1,000,000 0
s 900,000
Al 100,000
307 glz2tol & 1,000,000 1,000,000 0
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 900,000
Al 100,000
02 IZtE M AHEE 1,000,000 1,000,000 0
OXNIAHASE LielFE NJAY
1,000,000, 000& 1,000,000
s 900,000
Al 100,000
AL 22 767 732 35
201 Zet24E] 767 732 35
01 At 2t 2l 767 732 35
OHIAML SAXLSF 767
OZ ANz (JI) 230,000& = 29H 460
OZME(=1) 120,000& * 29 240
Og+=9 70,0004 = 13| = 95% 67
NS S MEfH =4 748,200 750,000 A 1,800
Iy LT XY 748,200 750,000 A 1,800
307 21201 A 148,200 150,000 A 1,800
02 LAFAAFEX 148,200 150,000 A 1,800
OZHHI=ZJHH NAAL(UHE)
20,000,000 = 1002 20,000
O=JIZELMIIX KEASG(HS)
50,000,000 = 10024 50,000
OWOIHAHOIA 29 KNAAL(HES)
10,000,000 * 200 & 20,000
OHIESRHH SHS ALY
30,000,000& = 2JHAF * 97% 58,200
308 XX EHHSOIA 600,000 600,000 0
13 2SOHetE & X 2 E AL I 600,000 600,000 0
oZNABLS T2y 29
600,000,000& = 1JH A 600,000
MBI E LRtel & E 2,437,541 2,721,314 N 283,773
= 439,000
as 1,320,000
< 167,878
Al 510,663
A EDIY 243 XI& 17,676 17,980 A 304
201 L2l 12,826 13,130 A 304
01 At 22l 12,826 13,130 A 304
OMEIHIIY HME 82 X& 6,460
OMIEIIY MEZ 88 I M
3,000& = 1,6005 * 95% 4,560
OMEEDIIY 222 AH
2,000 * 1,0000H = 95% 1,900
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZ DY @Zetel HEXE
200,000& = 1582 A « 95% 2,850
OA2IEIY HHELS ¥ AL WK 3,516
O A=Y 2,300
“OBIESR e A=Y
230,000& = 3H =« 23| 1,380
—d2Us s 2A+E
230,000& = 2H =« 23| 920
O THH & 10,000& = 100& = 95% 950
Og+=% 70,0003 = 400 = 95% 266
307 21201 A 4,850 4,850 0
02 IZtE S AHE L 970 970 0
OALZI =Dl Oot3tdiol n=
1,000,000& * 12| » 97% 970
04 DIZHHALALSE E X 3,880 3,880 0
OMIEZMIIY AAE
4,000,000& = 12| = 97% 3,880
(OlEDAIEI DY SHAY 1,200,000 1,600,000 A 400,000
s 900,000
< 75,000
Al 225,000
307 21201 A 1,200,000 1,600,000 A400,000
s 900,000
< 75,000
Al 225,000
02 It S AIHE L 1,200,000 1,600,000 A 400,000
O (0 AISI DI A AL 1,200,000,000% 1,200,000
s 900,000
< 75,000
Al 225,000
(oA DY M2 X & A 266,669 160,000 106,669
s 200,000
< 17,169
Al 49,500
307 glz2tol & 266,669 160,000 106,669
s 200,000
< 17,169
Al 49,500
02 It M AHEE 266,669 160,000 106,669
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SH: SXEAAD
HM: EXNRX EMH L IYXR 25
E2: HIoI24AY HAHE 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
0OE CEOEY =29 1,200,000 1,200
SEHOIMALHIAZHIOIE 2= 454 500 200,000 254,500
306 52 454,500 200,000 254,500
012 454 500 200,000 254,500
OSEHIOMYHIACHIOEH ()
454 /500,000 454 500
s Z2=EHRNHY XS 200,000 200,000 0
308 XX EHSOIA 200,000 200,000 0
112/ 2SUHUSHE A EAE AISE Y| 200,000 200,000 0
Otteds2 FHos dHE 28 ARINLH|(5
FEZ)(HE) 200,000,000& 200,000
NZXESH MNESGANIJAALE D= 780,000 750,000 30,000
403 XX SHHS K20 & 780,000 750,000 30,000
02 BI2SHUSXAN2EAEAISHI 780,000 750,000 30,000
OMEXZH AZFXJAAH = XA (S
) 780,000,000& 780,000
HOl2 2ctQl B2B HIRALIA ESHSES ALY 700,000 0 700,000
308 XX SHHSOIH 700,000 0 700,000
11 BI2SUHUEEAEAE AT Y| 700,000 0 700,000
OFHZFA HIOI2 222 B2B HIXLIA EHS
(s 700,000,000& 700,000
QCEFABHEIAMGAMAT HA XS 850,000 850,000 0
308 MXISHMSOIA 850,000 850,000 0
07 MHXSHH2AESZ 850,000 850,000 0]
O20212 LS AEHEI AT A AL SHAF Il Z
850,000,000 850,000
A7 MAEH AT Al 28 12,007,773 3,806,695 8,201,078
HBICEHSEES A&z XANIAHMEH 2EAY 1,700,000 1,800,000 A 100,000
403 XX SHHS K20 & 1,700,000 1,800,000 A 100,000
02 2I2SOUSA=2EAEAE Y 1,700,000 1,800,000 A 100,000
OB HESEEZAMISNALME R=(4RE
=)(He) 1,700,000,000& 1,700,000
HZESA ADQEZE 2EAY 851,530 349,440 502,090
308 XHXIEH SO0l A 851,530 349,440 502,090
112 2SUHUSHEAEAE AT Y| 851,530 349,440 502,090
OANEZE B2AMY(HE) 452,920
Ol RZ2= 7,420,000 = 2600 Ab 192,920
OD&3t 20,000,000& * 1324 At 260,000
OAJ|IEE ANEZE =AY (HE)
9,270,000& = 43JH At 398,610
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01 At 22l bl 4,893 5,855 2962
O4ft HUEY EINE A L AP 4,893
OEEXE KM= 50008 * 1,000 * 95% 4,750
O N7 30,0008 * 53 * 95% 143
203 @ = A 1,000 0 1,000
N EE S EEES 1,000 0 1,000
OUASHE YR 1,000,0002 1,000
306 2913 400,000 400,000 0
NEEE 400,000 400,000 0
OZ=HALNA 22X & 400,000, 000%! 400,000
NEFX NAHASEHE 25 600,000 1,000,000 400,000
403 XX M S X0l & 600,000 1,000,000 400,000
02 I 2SOl CH 8 X+ = X 91 S Abed bl 600,000 1,000,000 400,000
B2 NEFUNESH HAEHE A3
HEE)(HE) 600,000, 000%! 600,000
ES 3F Y2APNLSD 54 250,000 250,000 0
306 2912 250,000 250,000 0
NEEE 250,000 250,000 0
OF2 BF YAATHLED SH(HS)
250,000,0002 250,000
RATHA &5 A 151,100 0 151,100
201 et A H| 1,100 0 1,100
01 Ak 22l 1,100 0 1,100
OS5l ANSZE(521) 2,200,008 * 50% 1,100
308 XHXI €A S 0| & 150,000 0 150,000
11 ZII2SOICHE & X 9 AL bl 150,000 0 150,000
OXIATHAH S B A 150,000
OXATHASSAMS(HS) 130,000,000 130,000
OXIATH A& B ALES (XHHI) 20,000,000 20,000
CHS X WAZIISD| 2 8,034,250 0 8,034,250
201 Lyt HH| 14,250 0 14,250
01 AL 22l bl 14,250 0 14,250
OISR WA Al 252 14,250
ODSE8 EEHX 2,008 * 4,00004 * 95% 7,600
OE22E HM=  1,4008 * 5,000 * 95% 6,650
308 XHXIEHH SOl ™ 8,020,000 0 8,020,000
07 A SHHAS LS 8,000,000 0 8,000,000
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SEYT JIIXNFALAE 2= 15,000 0 15,000
207 O & H| 15,000 0 15,000
02 & AR I 15,000 0 15,000
OZZYWI JIYRNIAANLE 2=
15,000,000& * 1M E 15,000
ICTEE = MEHH 235 2,397,627 739,818 1,657,809
ICT8E &Y sd ¥ |X22 6,680 0 6,680
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02 2324gHl 6,680 0 6,680
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OAEE RIBLE
1973 = 1,204m » 12& 2,847
308 XXM SO0 A 315,000 315,000 0
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S=ESZZHNYHHZ2E 1,120,000 400,000 720,000
308 X EHSOIA 1,120,000 400,000 720,000
113/ 2SoHUHSZHEAEALS I 1,120,000 400,000 720,000
O==S=2=24dHYddH 22 X2 (HS)
1,120,000,000& * 13| 1,120,000
WEEHZHAH 2.0(BtEH SstAY) 755,000 0 755,000
308 MtXIEHMSOIH 755,000 0 755,000
113 2SoHUHeSBHEAEALS I 755,000 0 755,000
OWSEZ2HAH 2.0 SSAMY (B A ) (2xHE
=) (ue) 755,000,000 755,000
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020214 A= KNGSty HAE(US)
150,000, 000& 150,000
MR L EAY 20,000 20,000 0
308 XXIEHHSOIA 20,000 20,000 0
13 2SoHetE & X A I 20,000 20,000 0
OaAMZoledrd A X 2 (Ol e & Xt = XFR&D,
us) 10,000,000& * 13l 10,000
OUUHBALLASXNIA(ANES I L
A, tHE) 10,000,000& * 13l 10,000
MY 2L (AL 44,900 48,429 N 3,529
=& Hl 44,900 48,429 N 3,529
JlE&l 44,900 48,429 N 3,529
201 £er2d 18,260 18,069 191
01 At 2t 18,260 18,069 191
OJlege=dZl 500,000& = 16 = 90% 7,200
O3 HHI(J1=AHl)
8,000& » 16 = 8 » 12& » 90% 11,060
202 044l 23,040 27,360 A 4,320
1 S WA 23,040 27,360 A 4,320
OJI=&l 20,000& = 16 * 6 * 123 23,040
203 =& 3,600 3,000 600
04 RENSEHR=LH| 3,600 3,000 600
OJIEH (209! Oldt) 300,000& * 123 3,600
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A= IR 192,874 244,668 A51,794
sS40/ A& 141,658 175,216 A 33,558
201 L2l 9,366 37,866 A 28,500
01 At 22l 9,066 37,566 228,500
ORYLEAIY ST M
300,000& = 1500 = 95% 4,275
Of=J1ge 2 100,000& = 1500 * 95% 1,425
OJIYgEE X3 AHBIA 0] 3,366,000 3,366
02 2324l 300 300 0
Ogt=IgH 23 F2EE 3 JAJtl
300,000& * 13 300
203 YR =& 3,000 3,000 0
03 AI®FXH S =ZH| 3,000 3,000 0
OJIgXN&d HL2F& 3,000,000& 3,000
301 LA F 960 400 560
09 #HALAHIXI A3 960 400 560
OFAJIHXNAI& 5o EAX 4l
8,000& = 10¥ = 123 960
307 21201 A 78,332 33,950 44,382
02 LAFAAFEX 78,332 33,950 44,382
OJIY SEE LdEIEMHA XA
39,920,000& 39,920
OLIHEEHSEAEE NBSSE NEA
30,000,000 = 97% 29,100
O=ZA2JY &8 e X3 A
9,600,000& * 97% 9,312
308 XXIEHH SOl A 50,000 100,000 A 50,000
N 3JN2SUHUS3AEAE A I 50,000 100,000 250,000
oS4zl BN AaY
5,000,000 * 107H At 50,000
EFAJIY IolEe SEti sl 17,460 17,460 0
307 glz2+ol & 17,460 17,460 0
04 QIZFHALAIH E = 17,460 17,460 0
O&=FAl I IOl Sti3l
18,000,000& * 13| * 97% 17,460
S0 CE0 I L W= 5,820 5,820 0
307 glz2tol & 5,820 5,820 0
04 DIZHHALALSE E X 5,820 5,820 0
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OFEAJ|Y CE0 23 W=
3,000,000& = 23| » 97% 5,820
Jlgolol o 27,936 29,100 A 1,164
307 gl2tol & 27,936 29,100 A1,164
04 DIZHHALALSE E X 27,936 29,100 A1,164
©J1g e ¢
30,000,000& * 12l * 97% * 96% 27,936
A SEFLY X 5,918 6,992 A 1,074
H3BAIEE B H 5,918 6,992 21,074
201 Let24d] 5,918 6,992 21,074
01 At 2teltl 5,918 6,992 21,074
OHMIBEANES LHMEA ANHEH (&L,
StBHIl) 369,831& » 29 » 42 « 23 5,918
SHMLFE 23 75,195 165,310 290,115
S M RIS 75,195 165,310 290,115
=MusE 243 75,195 165,310 A 90,115
201 L4l 23,695 32,100 A 8,405
01 At 22l 9,395 14,200 A 4,805
OZHMuIAYE =& 3,135
ooz 50,000& = 100K = 33| = 95% 1,425
Osg%= 300,000 = 2 * 33 * 95% 1,710
OF4 U LT 2,660
O8=9 M 70,0003 = 2008 = 95% 1,330
Ozt 70,0003 = 2000 = 95% 1,330
O=HMuREAl H=HAA X2
600,000& * 6& » 1H 3,600
02 =224l 14,300 17,900 A 3,600
OANZF IFHSAMY 2Ed=2(H3IH])
12,500, 000& 12,500
O=MuREA H==HF B3, EE2
300,000& * 6& » 1H 1,800
202 04l 20,000 40,000 20,000
03 =220l 20,000 40,000 A20,000
OHZAl 299 2YAL2DE ANLEX
20,000,000& 20,000
203 ¥ S =&l 6,000 6,000 0
03 A=A H 2 =AY 6,000 6,000 0
O=H&E4&, nxgR =2 6,000,000& 6,000
301 LEXZ 20,500 35,500 A 15,000
07 2BI=& 0 bl 15,000 30,000 A 15,000
O=HMuREA 2wI =F 15,000,000 15,000
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S HRFAY EERED
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
09 HALAHIX A S 5,500 5,500 0
O2A=0i59 QW3 2 5,500
O=0s< UHISAL &Hl XS
20,000& = 50 « 53] 5,000
o= K2 S AR 2+ 3
5,000& = 50 * 23| 500
406 J|EFAI20I A 5,000 10,000 A5,000
01 JIEFRH201 N 5,000 10,000 A5,000
ORMDRECA H4XH =2 ANBEI
5,000,000 = 102 5,000
=ZJ|8t =Y 607,650 655,337 ANA4T,687
=HsSa 2t 607,650 655,337 NA4T,687
SHSA SUHOIY aiddE OHAE X&) 607,650 655,337 N47,687
307 glz2tol & 392,650 302,000 90,650
02 LIt MAMHEE 237,650 147,000 90,650
O+=ZJ1Y HAXNAMTHAA &S XA AS (104
Ab) 5,000,000& * 100 At * 97% 48,500
OZAJY XEE HAAME W= XA
12,500,000& * 8IHAF * 97% * 95% 92,150
O=+&J|g oi=2ctelads AE XA AL (15
JHAF) 50,000,000& = 97% 48,500
O== B2CH & Heh & L BOHKA AL (1
09 A}) 50,000,000& = 97% 48,500
05 RIZHRI & 3 155,000 155,000 0
OMASHAAMRA(REA) 22
155,000,000& * 1JH 2 155,000
308 XXM S0 A 215,000 350,000 A 135,000
113/ 2SoHUHeBHEAEALS I 215,000 350,000 A 135,000
O+&29EE XA ANY
2,000,000 * 207H At 40,000
Ol UAZSES XA (140 AH)
75,000,000& 75,000
O£ J|Yd HASFHl XA (18IHAH)
50,000,000& 50,000
OO0tz =243 L XA (5HAH
50,000,000& 50,000
HY2FZH (I XA 44,362 62,654 218,292
Jl=34l 36,556 55,087 A 18,531
Jl2ztl 36,556 55,087 A 18,531
201 Let2d] 14,836 20,479 A5,643
01 At 22l 14,836 20,479 25,643
OJlzgesd HSAY|
500,000& = 13 = 90% 5,850
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HH2IZH OILX2 )

chel: Jl= 2| (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oZ2Hl(JI=&Hl)
8,000& * 138 » 82 x 12&8 * 90% 8,986
202 (4] 18,720 31,008 N 12,288
01 2L Y] 18,720 31,008 N 12,288
O =LYl 20,0008 » 13¥ * 6 * 128 18,720
203 ¥R =&H| 3,000 3,600 A 600
04 ENSI IR =AY 3,000 3,600 A 600
©J1E=&Hl (1521 0]3t) 250,000& = 12& 3,000
ol 2 AH| 7,806 7,567 239
ol A4 H| 7,806 7,567 239
101 @121l 7,806 7,567 239
02 JIEt& E % 7,806 7,567 239
O8HANE > 7,806
OAZte =<
10,8413 = 2% = 30AI2t = 12& 7,806
HEESS(JYXS) 8,000,000 6,500,000 1,500,000
WEAHHX = 8,000,000 6,500,000 1,500,000
WWEHH X = 8,000,000 6,500,000 1,500,000
702 J|12HE2 8,000,000 6,500,000 1,500,000
(VIS = 8,000,000 6,500,000 1,500,000
oOsAJNgEe4dI2 MES 8,000,000,000& 8,000,000




N & o & AF & H Al A
20219 = =0la LBt IMEHLY ~ FESA
2AM: N
Za: YK &
Selr XA SELA (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
N & ot 2,825,718 2,787,643 38,075
= 375,342
Al 2,450,376
ME X & 2,722,119 2,674,496 47,623
= 375,342
Al 2,346,777
KA SE LA 1,993,474 1,951,750 41,724
= 375,342
Al 1,618,132
MBS Al 676,541 618,681 57,860
101 @124l 16,244 34,190 A 17,946
4 JI2ZtHZ22 s+ 16,244 34,190 A 17,946
OMAXLASAH & =20
69,760& * 7% = 30 14,650
OAMABE= 1,594
O=H3IRES3 14,650,0002 * 4.5% 660
O30HLEE 14,650,000& * 3.335% 489
OFWILEER 503,000& = 10.25% 52
CLESE=RE= 14,650,000& * 1.65% 242
Ot ELE2E = 14,650,0008 * 1.03% 151
201 LBH2d| 147,377 106,897 40,480
01 At 22l 41,423 27,669 13,754
OXEAN =22 M= 80F = 35,0000 * 95% 2,660
OXEIIE HE+=2Z(ARS)
80& * 4,750 » 12& 4,560
OFIIZ NEA HXW2 ME
1,000& = 150 * 63 * 95% 855
OMUAXNLASAH MDEEH 29 2,196
OXMZEHI(BFH, Z28H ) 2
80,000& = 150H 1,200
O=BUJIIE Xt 400,000& = 2MIE 800
O g% 70,0003 * 2004 * 95% 133
Os8 Y2t 33,0003 * 290 Z * 95% 63
O& 42 AIXIE HAID &8 XLAODX D
Xl 18,178
O Xl &bl 220,000& = 4300 = 95% 8,987
O&EH & &XHl 1,313,000& 7Y 9,191
OAMUWHAE S8 XA 22 12,474
OHA ef2& Y| 66,000& = 2004 = 73l 9,240
2210 HEH 16,500& * 2000 = 73l 2,310
OgEMEH =2 9,240,000& = 10% 924
OAAN dFelel =& 100,000& * 5% 500
02 23=24gHl 105,954 79,228 26,726




M N
M WEXEH

2 XYA SELA (=& J)
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OJ&AHE YSHEIA =2
80& = 68,5004 = 123 65,760
ONMABLR SHS 242
173 = 7,500 « 123 1,530
OAMRSE 2AIAE 2 X 24|
4,394,500 * 43| 17,578
OJAH A AE RS2 28I
2,342,500& * 43| 9,370
OXZA ARSAIAEN ME3|IH ALEZ (PRI)
132,000& » 43| & « 123 6,336
O=NUHEY ME3H AHEE L FXEHI(
ADHEH 29) 5,380,000& 5,380
308 XXX S0 A 87,826 88,031 A 205
11 32S0HUHSBHEAEALS I 87,826 88,031 A 205
OXNEMNEEZSHAY 87,826
OHEEXNLNMEEANLEH 59,509,000 59,509
O/HA(SEXLA) 25,969,000& 25,969
OLNSEAAE 2,348,000 2,348
403 A X EHHS =0l A 315,094 244,563 70,531
02 SO 2SOHSHA 2R 2 E A I 315,094 244,563 70,531
OXHITH NEANMEBEANAEH 2=
315,094,000 315,094
405 TtHabH S| 110,000 0 110,000
01 AL EFH S 110,000 0 110,000
OXNZA M+ S& feA=ED|
22,000,000& * 5CH 110,000
SAYNIT 2 52,470 121,318 68,848
201 Let2d] 2,470 46,318 A 43,848
01 At 22l 2,470 2,470 0
OXEAH HAEAHS ol
1,600& = 1,00000 * 95% 1,520
OX AN HSAEANX ZAH M=
100,000&  100H = 95% 950
301 LEXS 50,000 75,000 A 25,000
12 JIEtE4 3 50,000 75,000 A 25,000
OMLtAl & dAYHMA &3H
50,000& = 1,000H 50,000
MEBYR A 25,230 24,230 1,000
201 LB-2g| 22,230 22,230 0
01 At 2t 2l 22,230 22,230 0
OXNEAN HRE 7 50,0008 1302 * 95% 6,175
OXZA SHLHEI HME(1T)
3,000& = 1,300 * 95% 3,705




M N

M WEXEH

Selr XA SELA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXZA & F& 100,000 * 102 * 95% 950
OX&ANEEA B8sW=E 12,000,000 * 95% 11,400
203 YR =&l 3,000 2,000 1,000
03 AIHZ=XH R =AH| 3,000 2,000 1,000
OXNENME2YE g2=2 3,000,000& 3,000
HE I A T AL 764,126 695,519 68,607
101 @124 dl 215,240 164,131 51,109
04 JIZHHZ2XREE S 215,240 164,131 51,109
OMEFS SHEA LAAAOIRY
74,9003 * 18F » 144 194,141
OMsIEEZ 21,099
O=RH=RE= 194,141,0008 * 4.5% 8,737
O=HLEE 194,141,000& * 3.335% 6,475
OFJIRYEE= 6,659,000& = 10.25% 683
OL=EEERE3 194,141,000& * 1.65% 3,204
O EAEE =S
194,141,000& * 1.03% 2,000
201 et 543,286 521,288 21,998
01 At 22l 496,580 474,582 21,998
OFE+F==+8 6,600& = 66,1002 436,260
OOIBAl ZEFEINA 4BL42 3,700
OUE==Z2 (0t E) 50,000& * 50= 2,500
OMBEz (A, CHAIN)
30,000& * 40 1,200
OMNEFEIIHA Z2FSXNE MH
100& * 74,000 * 95% 7,030
OMEFEIIY BB 22
10,0008 * 2,000& * 23] * 95% 38,000
OMNE=EDIA AAZ M ME
20,000& = 1005 = 95% 1,900
OMEFEIY YRENE £
220,000& * 1000 = 95% 2,090
ONEFEIIA FRFAUE HIS(FEEY)
2,000,000& * 4H72& » 95% 7,600
02 2324l 46,706 46,706 0
OMEFEIIA ZHENS LB
350& = 85,0004 29,750
OME=EItA 2 AAE RAES
4,239,000& = 43| 16,956
405 Xt&tE SHI 5,600 10,100 A 4,500
01 AL EFH S 5,600 10,100 A 4,500
O Xt F SHI 5,600
O E = 1,400,000 * 4CH 5,600




M N

M WEXEH

Selr XA SELA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE=EHIAEZAI(Z ) 375,342 394,900 A 19,558
= 375,342
101 @14 Hl 359,694 379,300 A 19,606
= 359,694
04 JIZHHZ2XNHEE S 359,694 379,300 A 19,606
ONLEFE SHITA LAAIEAE L
74,9003 * 38F x 116 330,160
= 330,160
OMIIEEEZE 29,534 ,000& 29,534
= 29,534
201 LBt | 8,448 7,200 1,248
2 8.448
01 At 22l 8,448 7,200 1,248
OMEFLARET S|
8,000& = 8 » 11 » 123 8,448
2 8.448
202 04l 7,200 8,400 A 1,200
= 7,200
01 = LH o4 1l 7,200 8,400 A1,200
OMNEF=EIIAZALME EF 0
20,000& = 5 * 6 123 7,200
= 7,200
NS ZEAL AAl 2,660 2,109 551
201 L4l 2,660 2,109 551
01 At 22l 2,660 2,109 551
OXIYA MEHZAL HA 214
5,000& = 200& = 95% 950
O2L goltha XA o2 MZ
100& = 15,00000 = 95% 1,425
OXLMN A A M &
100,000& = 34l = 95% 285
st=XEAHARE A 97,105 94,993 2,112
306 ¢ 2 97,105 94,993 2,112
01 &3 97,105 94,993 2,112
Ost=XLAHATRH &= 97,105,000& 97,105
M2l 22 621,225 605,178 16,047
Mel=2 HEgde & == 621,225 604,266 16,959
201 ¢4l 262,888 283,748 A 20,860
01 At 22l 159,588 174,148 A 14,560
OM2A+=L DX A oIy
72,6003 * 70%FA * 95% 4,828
OMe=+2 DWW 1M
12,5003 * 2403 = 95% 2,850




M N

M WEXEH

CHe: M= 2tel (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMEY S &2t Z2HUdE xS
4,800,000& = 128 57,600
oAE3tE )| X2l
20,000& = 60CH ~ 12& 14,400
OJNAHNH LYSHHIA 242
80& = 5,000 = 128 4,800
OM2A+ MEX MIUHSLE AMAHE 0l82>
=4 440& = 75,0004 33,000
OME XM & OtHE MH
663 * 400,000 * 95% 25,080
OFSE MH 100® * 54,0000 * 95% 5,130
OBIASI=E=E(2ZE,0lM) =242
1,000& = 5004 500
oMU+ S &5 =
12,000,000 * 95% 11,400
02 33294l 103,300 109,600 A 6,300
oW 85,540
oLt 350& * 200,000= 70,000
OsII 2,450 * 6,000 14,700
OsSJltts= 2,100& = 400= 840
OMYE X HST IXAAE FAE |
330,000 = 8& 2,640
OMYEX HSTHIAX RE S4B
50,000& * 12& 600

OFXUHSLE AIAE KX E=H

1,210,0002 * 122 14,520
303 ZA2 171,000
01 ZA2 171,000
ONLE% 232 23l et
600,000 * 30% 18,000
oYPNZLd = 9,000
02018 0| & 2 90,000,0002 * 5/100 4,500
02019 £ 2 105,000,0002 * 3/100 3,150
020208 & 2 135,000,0002 * 1/100 1,350
ONAHEAHAINHBRR BoaZaZ 144,000
02018 OI&E  1,565,140,0002 * 5/100 78,257
02019 £ 2 1,611,000,0008 * 3/100 48,330
02020E & & 1,741,300,0008! * 1/100 17,413
308 Xt X S A S0l & 34,498 34,498 0
11 2| 2SOICHE AR A 34,498 34,498 0
OEZ XgHA+Y HBAALY 2
34,498,000 34,498
403 XX SHHS X201 & 152,839 96,020 56,819

02 SO 2S0tHe X2 & 2 & AL H 162,839 96,020 56,819




M N

M WEXEH

S Mel=g 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMO XN FEAAE 25
152,839, 000& 152,839
N EAE 107,420 117,568 A 10,148
DM DEHEN HEM=2 & =+ 107,420 117,568 A 10,148
201 Let24d] 14,620 24,768 A 10,148
01 At 22l 9,640 19,788 A 10,148
OARESH B2
600,000& = 104 = 25% 1,500
OMEX 23X =+=2(HI&EX)
2,000& = 500A 1,000
OXXUNSYE =2 (NYHNIEEALEH)
502 * 600% * 187H4 540
OMEZFEANAE MHIA 0EZ
550,000& = 12& 6,600
02 =24l 4,980 4,980 0
OMEXE HSE AIAAEH KX E=H
415,000& ~ 12& 4,980
303 &3 92,800 92,800 0
01 L& = 92,800 92,800 0
oY NBRY HAEAZ 9,000
020188 &= Ol1d = 90,000,000& = 5/100 4,500
Q20198 & & 110,000,000 = 3/100 3,300
Q20208 &2 120,000,000 * 1/100 1,200
OANUHEHMSINSREE L= 83,800
OZEH=NH 665,000,000& * 10/100 66,500
Q20189 & O1& =2 316,000,000& = 5/100 15,800
o018 &= 50,000,000& * 3/100 1,500
HY2HZH (ME D) 103,599 113,147 N 9,548
el 2 gl 28,506 27,631 875
ol Al 28,506 27,631 875
101 @14 dl 28,506 27,631 875
02 JIEt A 2+ 28,506 27,631 875
OAMZEEHUI NS B 28,506
Oxn224+Y
8,798% * 9H » 30AI2F » 123 28,506
Jl23 4l 75,093 85,516 A 10,423
JlE&l 75,093 85,516 A 10,423
201 ¢er24] 30,813 29,644 1,169
01 At 22l 30,813 29,644 1,169
OJlege=das4l 500,000 * 27F * 90% 12,150




2 MED
M HE2IZH (ME )

¢l =gl CEE-ED
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

OJIEZHI(=&Hl)

8,0002 * 279 » 8Y * 128 * 90% 18,663
202 014 38,880 51,072 A12,192
01 20l tl 38,880 51,072 A12,192
©JIE2H 20,0002 * 279 * 6 * 122 38,880
203 2R =X | 4,800 4,800 0
04 BN2IARETY 4,800 4,800 0
©J1FZ I (309! 0I5t) 400,0002 * 122 4,800
405 Xtk S 600 0 600
01 MY SZEH S| 600 0 600
O = 1 (100L0I5t) 300,0002 * 1CH 300
OXBHEAI 300,0002 * 104 300




> A
A & 0l & AF 2 E A A
20219 = =0la LBt IMEHLY ~ FESA
SN HESAD
M 21 = Lo - ¥
Helr E2AX ofia ¥ AZgsE FEL0 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2SS4 6,192,846 6,365,299 A 172,453
< 30,252
Al 6,162,594
21C 8= x99 y-ExF FE 6,132,540 6,294,504 A 161,964
< 30,252
Al 6,102,288
FEAX ol & A= FEE0H 469,945 446,879 23,066
dEstus 22 173,005 181,240 A8,235
201 Let24d] 161,005 169,240 A 8,235
01 At 22l 156,205 162,640 A6,435
OF=2usdH 29 36,965
OFESUEFE A2 FH| 14,165
- gt 100,000& = 62 + 128 » 95% 6,840
-El 220,000& * 9CH = 2JH = 95% 3,762
~YERRE YO
750,000 = 5IHA * 95% 3,563
Ogx=z 22,800
-SRuUs4dH 2,000,000& = 128 * 95% 22,800
OF=Estusul 2
10,000& = 2,000& * 95% 19,000
OZENEY RAH| 220,000 * 123 2,640
OZe Al HESWE 2AY
80,000& = 7% = 160 89,600
OZLY RHDS YMLY
80,000 = 2% = 50 8,000
02 =24l 4,800 6,600 A 1,800
OFEBusdH L=
400,000 * 1A * 128 4,800
307 21201 A 12,000 12,000 0
05 RIZt2IEt = 12,000 12,000 0
OZEuFE FAUAAY
1,000,000 = 12& 12,000
FEEoAIAE 2922 296,940 265,639 31,301
201 L2l 234,940 202,579 32,361
01 At 22l 540 14,535 A 13,995
OMEEES WS ZA=Y 180,000& =* 33l 540
02 =224l 234,400 188,044 46,356
ool ae T2 A2t 2toldA
28,4004 » 1,500% 42,600
OZCotIiXI&e T2 2t 2toldA
28,500& * 1,500% 42,750
OBZJIAUHM Z2elAlAE O 01E
34,000& * 1,500% 51,000




A 3E2SA
Hm: 210 M= F Do -BE 7
Celr MBAR A U MIALE BB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQUIPCXIZI0l Z=2 08 A2t 2told A
26,500 » 500% 13,250
OMABBRE MY
20,000,000& = 13l 20,000
OMHE Btolq AA(1E 2tol&dA)
352,000& » 60X 21,120
OPCE HiOlAABA(1E 2toldA)
26,000& = 1,500% 39,000
oFetzelE2HE(1E 2toldA)
3,000&  1,560% 4,680
405 XHoHF S HI 62,000 63,060 A 1,060
01 et EZFH S 62,000 63,060 A1,060
SoICIALZINE LSS EHEH]
1,700,000& * 10CH 17,000
OXsg & 22X 45,000,000& * 1CH 45,000
NEobsst 18528 F2MEA M3 2,537,999 2,145,565 392,434
FEHLYR Let2d 170,632 161,341 9,291
201 ¢4 169,632 160, 341 9,291
01 At 2t 2l 169,632 160, 341 9,291
OSY=EHNIES 28 3 S/W 2YHI(58 60
58) 150,000,000 * 95% 142,500
ORQUUALZI| LS MHIA FUHE ME
20,000& = 100& = 95% 1,900
OZglH 22 JIXNM 2| 2,565
Oget Zely &4 220,000& * 5J0 = 95% 1,045
OXN&E8 ZgleH EUH
220,000& = 500 = 95% 1,045
OZd=Zggd 23 50,000& = 100H = 95% 475
OZclZeglH 28 JIANN ¢ 4,427
ocEd 500,000& = 1JH = 95% 475
O&H 660,000& = 100 = 95% 627
OEHEHLNE 1,300,000& » 1Set * 95% 1,235
OFMRR(2E) 1,200,000& = 1JH * 95% 1,140
OEHAHIAE(2E)
1,000,000 * 1JH * 95% 950
OSUREE S/W 20oldA A Al 18,240
O3A&=210 200,000& = 6090 » 95% 11,400
Ostd Il A 120,000& = 6000 = 95% 6,840
203 YR =&l 1,000 1,000 0
03 AIMF=XH 2 =AY 1,000 1,000 0
OFEMNHIA 243 R2=2 1,000, 000& 1,000
HEZEANAE 29 L w22 1,291,367 1,226,024 65,343
201 L4l 1,085,215 1,060,282 24,933




AN BESAD
&

Ha: 210 @2 2 DO -BF P
@ XSIss 053 FEAMHA M3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 19,000 19,000 0
orcg 1d o= 100,000& * 100CH * 95% 9,500
oMEEES PCLHISI & F&
100,000& * 100CH * 95% 9,500
02 =224l 1,066,215 1,041,282 24,933
OHEAMAIAEH F X2 929,609
O M B (44TH) 15,830,000& * 12& 189,960
OMEEXI(7U) 9,378,000& = 12& 112,536
O2JIEFE I (KM, N/W, 2ot EH| el 730H)
4,459,000 = 12& 53,508
ORFNMEAZX (4TH) 1,052,000& * 12& 12,624
og=2&8571(40) 550,000& = 123 6,600
O2s8T2¥(858) 20,137,000& * 12€ 241,644
OYgRANIFZE(R2Y, ACE)
11,562,500& * 12& 138,750
ORSYRIALIT2IAAE
6,250,000& = 12& 75,000
OSgatg 2e| Al AE 1,775,000& * 1228 21,300
ORIt Sg2elAlAg
1,264,580& * 128 15,175
OEFAMMHA ™A A 645,000& = 12& 7,740
OLAZEYAHEM2AIAE 571,0008 » 123 6,852
OUHEHIISHeIAIAE 444,000& « 123 5,328
OLSELHNSHRSANLY
533,330& = 123 6,400
OITAHAE2E 2l Al A E 800,000&  12& 9,600
OAF 22l 2,084,000& = 12& 25,008
OXAMAANAE 132,000& * 12& 1,584
OMSTXUAEF =00IE AEE
550,000& * 13 550
OMeI 8 FE(1,73301)  9,500,000& = 128 114,000
odolM=Zed 1,838,000& * 128 22,056
207 A RO 2| 43,200 0 43,200
02 & &R I 43,200 0 43,200
OUEHIISHMelANAY D& 7,200,000 7,200
OF=Al OI&NH DE3t 14,000, 000& 14,000
ORRAAMY MRAAH 2AF 22,000,000& 22,000
308 XXIEHH SOl A 162,952 165,742 A 2,790
3 2SOHetE & X 2 E A I 162,952 165,742 A2,790
O=SJIgt HeEH |X2eltl
109,430,000& * 13| 109,430
O=SJIEt Moll=+ KX 2l
15,980,000& * 13l 15,980




AN BESAD
&

Mo 210 @2 DY -HE A
e XNBJisst 015A FEMHA M2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OM=Z AMHAOAZ S22l
6,460,000& = 13| 6,460
O2LI2tAIAE S/W S X &2l H]
31,082,000 = 13| 31,082
SHAEMAZEH SSAYFX 710,300 532,200 178,100
405 XHo&HF S HI 710,300 532,200 178,100
01 XAt 2 FF S| 710,300 532,200 178,100
OMHHANBESSAELXN WA
182,600,0008 * 1set 182,600
oReloAYII| 2L (M)
24,000,000& * 1CH 24,000
OR010IALZI| YEKT S ZH|(VPN)
1,700,000& = 104 1,700
OgRE NMAZEH WA 502,000
Ol s FH 1,400,000& * 300CH 420,000
OZZH(MEESEW) 600,000 = 70CH 42,000
OR2LH 400,000€ * 100CH 40,000
E= AMEXN0ICHAE 2E XA 254,850 226,000 28,850
306 =2 254,850 226,000 28,850
o1 s 2 254,850 226,000 28,850
OZ=SANEXN0CIHAE 249 2¢2(0H2)
254,850,000 254,850
RNsSsa Al At Aolad A ALH(HE) 60,000 0 60,000
308 XHXIEHH SO0l & 60,000 0 60,000
11 2I2SHUSHEAERAEASH] 60,000 0 60,000
©Grand ICTHRAMEH XFASE(HE)
60,000,000 60,000
HOHSE Z22AH 2= 50,850 0 50,850
201 B9 570 0 570
01 AP 22| H| 570 0 570
OEE R AUNERIANH P=H 570
OZEH stEEZoH2 50,000& * 60 * 95% 285
Ostatglos sl=4l 50,000 * 60 * 95% 285
401 AlEHIZL 2 0HY| 1,500 0 1,500
01 Al&EH| 1,500 0 1,500
OEY R ANIERANMEH 2= 1,500
OX2eal(2eh) UH=EMHMHE &
1,500,000& * 14 1,500
405 XHo&HF S HI 48,780 0 48,780
01 XML 2 ZF S| 48,780 0 48,780
OEY R AUIERKIMH 2= 18,780
OB EH 1,000,000 = 6LH 6,000




fA:E
X ZH -
L= B
el

2 21209 -H¥F 78
N2otsE DEA FLMUIA RS

CHB . SRA(SA) - ATAY - BES il
O2uUd 400,000& = 6CH 2,400
OZEEH(MEESEW) 600,000& * 1CH 600
OgtdlE dol2 200,000& * 1CH 200
Oyl 300,000& * 64 1,800
OW & 1 (300L013tH) 700,000& * 1CH 700
OXMaorg ot 160,000& * 3K 480
OHM(MIIE) 200,000& * 6K 1,200

AR E) 300,000& * 6K 1,800
OdF 3t 600,000& * 6CH 3,600
OMEZ2RRNHA E=S 1,500,000& = 20CH 30,000
o ASdt=e 80X 29 614,483
ZA QEHUWAIAE OGHEN 2o 614,483
201 -4l 429,690
01 AFR 22l 5,000
OHAMOIE BEUS 5,000,000 5,000
02 3324l 424,690
OQHY Zolelzel |Xdl 42,0008 * 205 840
OAMHIA(FUE) 25 MEZ(AUE)
3,000,000& * 1= 3,000
O HIA(MEE Y HY) 25 AEE
1,100,000& * 135 1,100
OglztotolEl Zolels AI8E
550,000& * 1& 550
OSSL 2= 250,000& * 15 250
OS2 XHAIXNAMEIA 0182
200,000 = 5 = 128 12,000
OAl EHOIX & =XA=Z=H| 184,116
OthE SHOIX S 138
5,180,000& * 123 62,160
OMZAEHOIX S 168
4,545,000 * 123 54,540
OWZLeISHOoIX S 245
5,618,000& = 123 67,416
OZHOIX 28 AZEANH KFXE=H 92,574
OWE EHOIX 2g AZEN(DBMS, Webt
0B, Jeus) 2,447,000& = 128 29,364
OZHOoIX Jtatst 28 2T EFHO
866,000 * 123 10,392
OZMHOIX M &24 255,000 » 123 3,060
Otbook 2& &=24d 280,500 * 123 3,366
OMH 2otoz 90,000& » 12& 1,080
OZHOIXN s 2UHYE A2ZEHO
130,000& * 123 1,560




A 3E2SA
Hm: 210 M= F Do -BE 7
Chel: A2 ASdl= SHOIX 29 (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONHIA F2t8 5 ZLIHE AZEAO
369,000& = 12& 4,428
OZHOIX Sz AZEAA(2T)
604,000& = 123 7,248
OSHOIX SAHEA 363,000 * 123 4,356
OZMHOolIX B = st 183,000& * 12& 2,196
ogzd 162,000& * 12& 1,944
OSEgEot2AAYE 2H ATEQN(28)
792,000& = 12& 9,504
OZZHUHAAYE 2H ATEN(2T)
825,000& » 12& 9,900
OZHOIX =SHHIIAIAE
348,000& = 12& 4,176
OAZHOIX ot=RI0 288 |FXNE+H 130,260
OEHOIX MUIAS 22| M (130H)
3,167,000& * 1228 38,004
OBHAHIE 2l M (50)
556,000& = 12& 6,672
OMZEXI(60H) 2,379,000& » 12& 28,548
OUWESZ &HI(11t) 1,813,000& * 12&8 21,756
Oogsty S Zor&d|(12Lh)
2,630,000& = 12& 31,560
OHIOI = S ZH|(20H) 310,000& = 12& 3,720
301 LEXZ 900 900 0
12JEEd= 900 900 0
OZMHOIXl AIZENH A3 900
OE2XIAM OIME FEL 24
0,000& * 30 900
405 TtobH S| 183,893 105,050 78,843
01 AL ESFH SH 183,893 105,050 78,843
OQHUWEEAAH oZet DE3 80,693
(ODNSAI A & 35,673,000& * 1set 35,673
OdEHAAH 45,020,000 = 1set 45,020
OHIHH =2ctQ MFE AAE 2H
103,200,000& * 1set 103,200
HESH FESE AL &3 W3 2,429,489 3,045,089 A 615,600
= 30,252
Al 2,399,237
B SHAAEH HEA 2HA 2,269,895 2,292,120 N22,225
201 Let24E] 1,858,047 1,875,580 A 17,533
01 At 22l 33,250 33,250 0
OdHZF M3 HS R XM 11,590
Olglg JRUHE
2,000& = 2,00001 * 23] * 95% 7,600




SN BESAD
HE: 210 M2 220 -HFE 78
Sel BHZY FBSN AMHIA BT M3 (S &2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SERERE T
7003 = 3,00004 = 23| = 95% 3,990
OsHEHZ RANEFE 425 7¢ 15,200
ouTte Aol 100,000& * 502k A = 95% 4,750
Ost& 100,000& * 30=FA = 95% 2,850
OslE(4ZE) 100,000& = 4000 * 95% 3,800
Os5lE(8ZE) 200,000& = 2000 = 95% 3,800
oOdFHs, FAX 22Z 224 6,460
OEUIMERIX 220,000& = 501 = 95% 1,045
OZ =2t JtECX 300,000 = 504 * 95% 1,425
OZ22H X 120,000& * 108 = 95% 1,140
Od &3] 30,0003 = 10020 » 95% 2,850
02 32224l 1,824,797 1,842,330 A17,533
OHSEL SOAAEH SN2
11,114,000& * 128 133,368
OFLEN UEATALE SN2
20,365,000& * 128 244,380
OIPHSDEHALE S 22|
6,901,000& = 12& 82,812
OZABISAAE STB 2|
968,000 * 123 11,616
OSHHHABTZEA SN L4
467,000& » 128 5,604
ogeesll RAE=H 424 6503 = 128 5,006
OFBSEAAY SN B4t
312,000& » 123 3,744
OSHCHETAAY XS4
352,000& * 123 4,224
OWA KA E=H 47,7803 = 7204 3,441
OFSEIT=, 251,712
OQHY HF A} 12,000,000& = 122 144,000
OB (QIEY)
30,000& = 1208l & = 128 43,200
OIS Yy
33,0003 = 5534 = 12E 21,780
OMLUTHE 2Iam s
33,000& = 173l& = 128 6,732
OSXNHIA SBR2 A8
3,000,000 = 12& 36,000
O&E3H AIEZ 1,078,800
O=uUds3d 103,680
-dstg 27,0003 = 320214 » 123 103,680
O2NHRSEHESY 918,000
—-200M 1,500,000& * 43| 123 72,000
-30M 700,000& = 7024 * 128 588,000




EX: AEsSA
MM 21 8=2 DO u-ExF F2&
Sel BTN HBSM AMUA BF N3 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
-4M 300,000& * 253 4& * 12& 90,000
-2M 200,000€ = 708l& = 12€ 168,000
(O E=FSE=3-IF]
1,000,000& = 33|& * 12&€ 36,000
Ot E MG 2,2008 * 8003 & * 12&€ 21,120
401 Al HI L 2O Hl 50,540 50,540 0
01 Al& H| 50,000 50,000 0
OAMSBA THHIXIO 2 FUSAALAZZAH(2EF
JAFS A 5,000,000& = 1004 50,000
03 AlIE 20| 540 540 0
OFUHSAEZZBA 50,000,000& * 1.08% 540
405 XHA&HF S HI 361,308 366,000 N4 ,692
01 XAt = ZEF S HI 361,308 366,000 N4 ,692
OXFBEBSEA =5 HWERAEE A 319,308
OMEAX (M2HAIE)
100,000,000 = 2CH 200,000
OHFADEASIXI(48Port, PoE)
8,522,000 = 140H 119,308
O#A MBI (IPT) 600,000 = 60CH 36,000
OmAID|D] 600,000 = 10CH 6,000
Helst 2SAl olTet X4 30,270 30,270 0
401 AlEHIZL 201 Y| 30,270 30,270 0
01 Al&H| 30,000 30,000 0
OUs02A4 2322A0/I0] 2 AL
30,000,000 * 1= 30,000
03 Al&E 201 Y| 270 270 0
OZ2Z220/II0 =5 ALY
30,000,000& * 0.9% 270
HA Z2A0ITOl &1 REAY 129,324 125,089 4,235
= 30,252
Al 99,072
201 et d| 129,324 125,089 4,235
o= 30,252
Al 99,072
02 2%l 129,324 125,089 4,235
OHA Z2Z220/1IH0] &X 2 AP (KAL) 28,486
OHA 22200 222=3(6504)
28,486,000 28,486
OHA 22200 X SIAMB(EX) 100,838
Ol A 2220|010 2222 (41404)
100,838,000 100,838
= 30,252
Al 70,586
SA0IS AHA DWOE=E AE 80,624 88, 159 AT ,535




2N
X ZH -
L= B
el

om ™ ox

2SN
C®E2 HDo -BF 78
NBE MUA DHOE

(o
SN ED B (3H) - MEAY - BAS %Eﬁ HD=2
HESH QA2 FXA 4,850 8,935 N4 ,085

201 gBt24d| 4,850 8,935 N4 ,085
01 AP 22| H| 2,850 6,935 N4 ,085
OMBHAMN SZTH DF44E
1,500,0008 » 2X * 95% 2,850
02 ZZ2H 2,000 2,000 0
OAMNESHEAAI S=HAEH |AXb 2,000,000& 2,000
SOIHHAEX(ER) HH AL &2 75,774 79,224 AN 3,450
201 LBt Y| 56,274 54,224 2,050
01 AP 22| d| 9,850 9,500 350
OE=2 ARER(HIHZ &)
3,000,000& * 100 * 95% 2,850
OEENME2XEZ)IzUE 3,500,000 = 2 7,000
02 Z=22%H| 46,424 44724 1,700
OEEZ AP H 500,000 * 4CH 2,000
OCEsTYN BINAANAY X2 44,424
OE=2st2HA HAEI|RAAE S/W
2,900,000% = 12€ 34,800
OE=2st2HA HAEX|RAAE H/W
650,000 ~ 12& 7,800
OEEXH |SNE4H (=230, HIPCE)
152,000 = 12& 1,824
405 RHoHFE S HI 19,500 25,000 A5,500
01 XA 2B F S| 19,500 25,000 A5,500
OE=Z3t0let ol (& atat)
19,500,000 = 1CH 19,500
S AZH(HEEAD) 60,306 70,795 A 10,489
24| 60,306 70,795 A 10,489
=34l 60,306 70,795 A 10,489
201 Bt 23,966 30,115 A6, 149
01 AP 22| H| 23,966 30,115 N6, 149
OJlEgesdasdY (JI=24l)
500,000& * 21% * 90% 9,450
o2l (J1=4Hl|)
8,000& * 21¥ = 82 * 128 * 90% 14,516
202 04| 30,240 36,480 NB6,240
01 2Ll 30,240 36,480 NB,240
O=2LHAHHlI(21=FHl)
20,0008 « 219 * 6 = 12&€ 30,240
203 R F & 4,200 4,200 0
04 FEASHEIRFEH| 4,200 4,200 0




SN HESAD
HE: HYRIFH(FESAD)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
©2J1F &l (252! 0lat) 350,000& = 12& 4,200
405 TtHabF S| 1,900 0 1,900
01 AL EFSHSHI 1,900 0 1,900

A

O34 TV(50 XI) 1,200,000& = 104 1,200
O™ &1 (300L0IGH) 700,000& * 1CH 700




